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Note: You have four choices for each objective type questionas A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER .

Q.No.1 LA
(1) In system international the unit of momentum is: RO (". rotf* /"'('d eV
(A) Nm (B) Kgms? (C) NS (D) NS
(2) A force of 10N makes an angle of 30° with the X- e dugstif30° S LA XudLid£10 @
axis. Horizontal component of this force will be: Hynas ’,J, L? 1K
(A) 4N (B) SN (C) 7N (D) 87N
(3) Earth’s gravitational force of attraction vanishes at: 79-(31?-'?-.-‘§J )9 J’: 645; Sets 3
(A) 4 6400 km (B) Infinity 46> (C) 4 42300 km (D) 4 1000 km
(4) The energy stored in a dam water is: q.dndxlam/:ufdhf.( 5 (@
(A) Electrical energy 3.1k ) (B) Potential energy RN = 4
(C) Kinetic energy (716 (¥ (D) Thermal energy 3.1 J 2
(5) InEinstein’s mass-energy equation “C” represents the: e b C el G AW ST (5)
(A) Speed of sound 4z T (B) Speed of light S4x (s
(C) Speed of electron ftx s % (D) Speed of earth Syt
(6) Approximate length of a glass tube to construct a - s A SEEL Lot p6 (6)
water barometer should be :
(A) 0.5m (B) Im C) 25m D) 1lm
) effects evaporation. et S €))
(A) Temperature £z  (B) Surface area of liquid L0 §Z4  (C) Windisx (D) All of these Ji/ (17
(8) material has large specific heat. e Jobr a7l Jx @®)
(A) Copper ¢ (B) Ice iz (C) Water Jg (D) Mercury ./,
(9) If thickness of wall is doubled, its thermal conductivity: (G EMS FE N CATATINEC)
(A) Becomes double < (st (B) Remains the same ¢ (*5s
(C) Becomes half q_J‘gmf 5T (D) Becomes one fourth q..dt;nétig..gl
(10) The number of base units in SI is: :q_,.,;lffw,gdzsi (10)
(A) 3 B) 6 © 7 ®) 9
(11) A body has translatory motion if it moves along a: :{_r;;,r;,,ﬁtf,,dﬁl);;u?fd'ﬁ{ (11)
(A) Straight Line  o££% s (B) Circle o715
(C) Line without rotation e - Ll (D) Curved path a;:/fijbr;
(12) Inertia depends upon: 19-”11"" ‘,.1*:/' (12)
(A) Mass Ut (B) NetForce 4 sdee  (C) Friction 4 o (D) Momentum (™% s
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NOTE: - Write same question number and its part el L4y 12 s’.‘-‘fw 5751 A i $s 44((}' P

number on answer book, as given in the question paper.

SECTION-1 sl .»

2. Attempt any five parts. 10=2x5 -E f ez lingie 3 2 Ay
(i) You are fifteen years old. Estimate your age in seconds. -éfutji:?g? K/&t-q_duma;/&.;‘f @
(i1) How is stop watch used? ‘.‘q_JL;JdL-‘Hc_f@I,.;,B« (i)
(iii) Express the following quantities using prefixes. & ,;u;c..ud’ eS8 3 SUSiosnr il
(i) 5000g (ii)52x10™g (1) 5000 g (ii) 52x 10" g
(iv) Define uniform acceleration. SEy /'"Ju'”- /-"glr;uzg Giv)
(v) Define position. Is it vector or scalar quantity? ‘.‘.';,Jlﬁ’):‘g Mo egEen JSHy W)
(vi) Define speed and write its unit. A ngEs She Qi)
(vii) What is meant by banking of road? il e ST (vil)
(viii) State Newton’s third Law of Motion. -:éc)guiﬁ'l A6ty Giid)
3. Attempt any five parts. 10=2x5 L F ez linbe 343 Ay
(i) Define rigid body and moment arm. -cf;'uv iJrﬁcywsldiup ®
(ii) Define centre of mass and centre of gravity. EBFSEL S ST ST D)

(iii) Why does the value of ‘g’ vary at different places? Explain - ZEealoste Byl ¥ LUk i .:..EJ ‘¢ (i)

(iv)How do we represent gravitational constant? Write __é'_y}' Lﬁ#iSId’JT‘-‘q-W&" ;.Lb'.{ ,Q_.;:),Q}’-’dg J G
its value in SI unit.

(v)How much away the moon is from the earth? In how many g/ Lu:;xtg?.;_/‘_aﬁz”_/a,a:;;lg v)

days, moon completes one revolution around the earth? et/ J‘; SUD
(vi) Write Einstein’s mass-energy equation and the value of bl F o 5£ ehleGa-s T (vi)
speed of light in SI unit. AaLoysiedS

(vii) Write importance of wind energy. “ZEFea$ ks (i)

(viii) What is meant by biomass? How can electricity be e Fodin ¥ cuitest Ve utft Giid)

generated by it? T T ' .

4. Attempt any five parts. 10=2x5 i F ez lnbie di Aty
(i) Write two important features of kinetic molecular model of matter. el Uind, diL);éL.@‘Jb’ Lol ()
(ii)) What is meant by plasma? SeslpWaliy G
(iii) Define density and write its equation. __J...-.uug,{w»i Zo 8 Gid
(iv) Differentiate between temperature and heat. -é-.( Endf ezl )2 ;,} Giv)
(v) Define lower and upper fixed points of thermometer. -/ i ’lgi-ff FIagl g (V)
(vi) What is meant by transfer of heat? e a7 JE (i)
(vii) Differentiate between conduction and convection. -455 nIpLSE P’»!cﬁ 2 (vii)

(viii) Write two uses of convection currents. il S L (viii)
SECTION —1II ’ss 4> :
NOTE: - Attempt any two questions. 2x9=18 _éazj &Llﬁﬁ@ﬂlﬂ:b&ﬂ&)
5. (a) Derive _2"" equation of motion with the helpof  (4) -u:/jéla..utf...?r; f' Lhr bl /mj’.;f 7 (N5
speed-time graph.
(b) A stone of mass 100g is attached to the end of a e limerLi FL ﬁ_ifléu’tr!)' 100 ()
string 1m long. The stone is rotating in a circle -q_p/ IS § 5ms™1# K e Slosl
with a speed of 5ms™. Find the tension in the 5) -,,_ér'll” R
string.
6. (a) E{;f;%: kinetic energy. Derive its mathematical ~ (4) e dui-Ea S S8 H & d¥ (-6
on. *
(b) Find the magnitude and direction of a force if its  (5) AI2N .;:g'r,f—xb’u’-’ 2__12.-%»!»&&_/;}',!! ()
x-component is 12 N and y-component is 5 N. e SN ngf—y

7. (a) tht is thempmeter? Describe the properties of @ - e‘.‘——uk-‘-«l_-‘:‘é ng. RN ==L ‘L&r}ﬂ 3 ()7
liquid used in it.

(b) A cube of glass of 5 cm side and mass 306 g, has AL 11306 gU W/ LEELL 3225 ()
a cavity inside it. If the density of glass is 2.55 U1752.55 gem > G022 Ne B dy Qi
gem™, then find the volume of the cavity. 5 -5{()"(;2!;(&:‘:
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Mote® You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
i front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 Ay
(1)  The formula for mass of the earth is: ey AL s (1)
(A) Me--% (B) Me= ‘g = (C) Me= Rng (D) Me= G;;g
(2)  The unit of energy is: et g 2)
(A) Newton /¢ (B) Joule Jz (C) Meter & (D) Second £
(3)  One kilo joule is equal to: :q..rn/.U.quﬁ.{i (3)
(A)10] | (B) 10*J (C) 10°] (D) 10%J
(4) The unit of density in System International is: :q...*;g&’&"’ ST ;-‘f(" (4)
(A) kgm' (B) Kgm’ (©) kgm® (D) kgm”
(5) The formula of conversion from Celsius to Kelvin Scale is: :q..ﬂr‘JGb’J; .a,:ui'd:co}.:( r_.u:-‘)“/ (5)
(A) T(K) =270+C (B) T(K) =271+C (C) T(K) =272+C (D) T(K) =273+C
(6) The specific heat of ice is: i s 27 iz (6

(A) 2100 JKg' K™ (B) 2200 JKg' K! (C) 2300 JKg' K (D) 2400 JKg' K

) kl;iz svilsl:ue of coefficient of linear thermal expansion of a;-:.-furn.u‘».ﬁff fetbir s £

(A)1.9x 10° K (B)1.9x 10K (©)1.9x 107K D) 1.9x10° K"’
(8) The unit of volume is: iyl (8)
(A) Meter ~ (B) Force s (C) Cubic meter < £ (D) Second i£
(9) The formula of velocity is: e Uy €5 Vs (9)
(A) V=% (B) V=% (C) V=d+t (D) V=h+t
(10) The unit of force is: ey (10)
(A) Meter ¥ (B) Second 4 (C) Joule Jz (D) Newton /¢
(11) The formula of momentum is: :q_U:’;lib/r’u:’ » (11
(A)P=ma (B)P=mv (C) P = dt (D)P=Fxd
(12) The Moment Arm is represented by a sign: :SL-r{fL‘/ﬁwa-W@’lbfrJT#V (12)
(A)T (B)L (OF (D)N
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